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The action figure toys of a multinational toy company are based on the usual ideal human figure
of 6 feet for standardization purpose. If a common scale factor of 1 inch = 2 feet is applied,
determine the height of an action figure toy.

Fabian makes a scale drawing of his tree house with a scale factor of 1 foot = 0.44 inch. If the
length of the tree house in the drawing is 3.52 inches, what is the actual length of the tree
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6.8 inches 10inches

Actual height of the tree = Actual height of the =
Leaning Tower of Pisa
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